For each of the following reactions:
(a) rewrite the equation including the enthalpy change as a term
(b) draw a potential energy diagram

(1) C6H1206(s) + 602(g) I 6C02(g) + 6H20(1) AHO =-2802.7k]
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(1) C6H1206(s) + 602(g) _’6C02(g) + 6H20(1) AHO = -2802.7k]

(i) HyOgy) — Hag + %oz(g) AH® =241.8 kJ

HOpy + 2485 —> Hogy + 20sq

HD0

. Hzg»-"i}&j}
/AW - 248K

I

r

)




Predicting Energy Changes using Hess's Law

Hess's Law - (Heat of Summation)
- allows for the determination of the enthalpy change of a reaction with
direct use of calorimetry.

Rules:

 if a chemical equation is reversed, then the sign of the AH, changes
« if the coefficients of a chemical equation are altered by multiplying
or dividing by a constant factor, then the AH, is altered in the same
way

Ex. C(S) + Oz(g) = COz(g) AH = -393.5 kJ
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Example

H,O (g +  C(s) > Co + Hi@

AH=7

Steps (found using calorimetry):

}z/Hz(g) + 120, > HO®@ AH =  -24201]
%00@9 2C(6) + 0@ AH = +22104
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Calculate the heat released by the burning of sulfur in oxygen given the
following steps:

2% + 30, > 2505(g) AH=7

Evidence:

step/1®/ Ss) + 0,8 > 50,(@ AH= -297KJ
Step2 () 250, + 0@ > 230;(®) AH=-198LJ
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Worksheet
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